Handling translator’s false
friends

» International words are words 1n the source
and target languages which are more or less
similar 1n form.

» The formal similarity 1s usually the result of
the two words having the common origin,
mainly derived from either Greek or Latin eg.
Parliament, theorem, diameter, etc.



Handling translator’s false friends

» Gi1ve your examples of international words



Handling translator’s false friends

» Words that are similar in form but
different in meaning are called

pseudointernational
or translator s false friends
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Pseudointernational words

= Are classified into 2 main groups:

1 Words which are similar in form but
completely different in meaning, eg.

It lasted the whole decade.
She has a very fine complexion.
Well, he must be a lunatic.



Handling translator’s false friends

» 2) There are many
pseudointernational words which are
not fully interchangeable though
there are some common elements 1n
their semantics.



Handling translator’s false friends

» The translator should bear in mind that a
number of factors can preclude the possibility
of using the formally similar word as an
equivalent:



1) Semantic factor

The semantic factor resulting from the
different subsequent development of the words
borrowed by the two languages from the same
source, eg.

Idiom — 1. ugnom,
2. TUAJICKT (Hapeuue),

3. CTUIb.



= South Vietnam was a vast laboratory for the
testing of weapons for counter-guerrilla
warfare.



» 2) The stylistic factor resulting from the
difference in the emotive or stylistic
connotation of the correlated words, eg.

= career’

« Davy took on Faraday as his assistant and
thereby opened a scientific career for him.



= 3) The co-occurrence factor reflecting the
difference 1n the lexical combinability rules 1n
the two languages. The choice of an equivalent
1s often influenced by the usage preferring a
standard combination of words to the formally
similar substitute.



= S0, a “defect” has a formal counterpart
counterpart as «gedekr» but “theoretical and
organizational defects” will be rather
“roacyeThl/ecenTeynep’.

« A “gesture” may be rendered in another way:
The reason for including only minor gestures
of reforms in the program...

» (OKaskoe nogooue pedopMm)



» 4) The pragmatic factor reflecting the
difference 1n the background knowledge of the
members of the two language communities
which makes the translator reject the formal
equivalent 1 favor of the more explicit or
familiar variant.



= The American Revolution was a close
parallel to the wars of national liberation 1n the
colonial and semi-colonial countries.

» The counter-revolutionary organization was set
up to suppress the Negro-poor white alliance
that sought to bring democracy in the South 1n
the Reconstruction period.



» The senator knew Lincoln’s Emancipation
Proclamation by heart.



COLLOCATIONAL ASPECTS OF
TRANSLATION

ATTRIBUTIVE GROUPS

» there 1s a considerable dissimilarity in the
semantic structure of attributive groups in
English and in Russian. This dissimilarity
gives rise to a number of translation problems.



» The first group of problems stems from the
broader semantic relationships between the
attribute and the noun.

=« the attribute may refer not only to some
property of the object but also to 1ts
location, purpose, cause, etc.



= As aresult, the translator has to make a thorough
analysis of the context to find out what the
meaning of the group 1s 1n each particular case.

» He must be also aware of the relative freedom of
bringing together such semantic elements within
the attributive group in English that are distanced
from each other by a number of intermediate
1deas.



= Thus a resolution submitted by an executive
body of an organization may be described
as ""the Executive resolution' and the
majority of votes received by such a
resolution will be «the Executive
majority».



» If a word-for-word translation of the name
of the executive body (e.g. the «Executive
Committee» — NCIOTHUTEIbHBI KOMUTET)
may satisfy the translator, the other two
attributive groups will have to be explicated
in the Russian translation as (try to guess)



x «PE3OIIOLMS, IIPECAT0KCHHAS NCITOJIKOMOM))
and

s «OOJIBIIIMHCTBO I'OJI0COB, IIOJAHHBIX 34
PE30JIIOLMIO, KOTOpas ObLIa MPEeaI0KEeHA
M CIIOJIKOMOM))



» The second group of problems results from
the difficulties in handling multi-member
attributive structures. The English-speaking
people make wide use of "multi-storied"
structures with complicated internal
semantic relationships.



The tax paid for the right to take part in the
election 1s described as "the poll tax".

The states where this tax 1s collected are
"the poll tax states"

and the governors of these states are "the
poll tax states governors".

Now these governors may hold a
conference which will be referred to as 'the
poll tax states governors conference" and so
on.



= The semantic relationships within a
multi-member group need not be linear.
Consider the following sentence:

“It was the period of the broad western
hemisphere and world pre-war united
people's front struggle against fascism”
(analyze the structure of the attr group)



» DTO OBLI IIEPHUOJ, IIUPOKON NPEIBOCHHOM
OOpPBOBI NPOTHUB (pallIM3Ma 3a €AUHbIN
HapOAHBIA (DPOHT B 3aIIaIHOM IIOJIyIIapHUHU
1 BO BCEM MHUDE.



=« The same goes for attributive groups with
latent predication where a

» Whole sentence 1s used to qualify a noun as
its attribute "He was being the boss again,
using the
1ts-my-money-now-do-as-you're-told
voice'".



» Here correspondences can also be described
in an indirect way only by stating that the
attribute 1s usually translated into
Russian|Kazakh as a separate sentence and
that this sentence should be joined to the
noun by a short introductory element. Cf.:



» The Judge's face wore his own
[-knew-they-were-guilty-all-along
expression.



» Ha amie cynbpu nossBUII0Ch OOBIYHOE
BBIPAKEHUE, TOBOPHUBIIEE: « BCe Bpems
3HaJI, YTO OHU BUHOBHBD.



= There was a man with a
don't-say-anything-to-me-or-I'll-contradict-
you face. (Ch. Dickens)



= Tam ObLI YEIOBEK, HA JIULIE KOTOPOro OBLIO
HaIMCaHO: YTO ObI BEI MHE HU T'OBOPUIIH, 5
BCE paBHO Oyaqy BamM MPOTHUBOPECUYUTh.



= 3) An attributive group may be transformed
into a stmilar group with the help of a
suffix which 1s formally attached to the
noun but 1s semantically related to the
whole group. Thus "a sound sleeper” may
be derived from "sound sleep” or the man
belonging to the "Fifth column" may be
described as "the Fifth columnaist”.



= As arule, in the Russian translation the
meanings of the original group and of the
suffix would be rendered separately, e.g.:
4eJIOBEK, 00JIaar0IIUM 300POBBIM
(KpENKHUM) CHOM (KPEHKO CHSIIHAN
4eJIOBEK), and 4eI0BEK, MPUHALICKAIIUN K
ISATOW KOJIOHHE (YICH IISITOM KOJIOHHBI).



4) As often as not, translating the meaning of an
English attributive group into Russian may
involve a complete restructuring of the sentence,
e.g..

= To watch it happen, all within two and a half
hours, was a thrilling sight.

» Henb3s ObUI0 HEe BOCXUIIIATHECS, HAOMIOmasI, Kak
BCE ATO IIPOMCXOAUIIO HA OPOTHKCHUH KaKHX-
HUOYIb ABYX C ITOJJOBUHOM YaCOB.



Translate the following attributive groups

1. hearty eater;

2. practical joker;

3. conscientious objector;
4. sleeping partner;

5. stumbling block;

6. smoking concert;



1.
2.
3.
4.
5.
6.
1.
8.
9.
0.

Translate the following attributive groups

The Nato nuclear weapons planning working group
The Communist Party election campaign committee
The Mississippi Freedom Democratic Party delegates
The mail train robbery case |
Strategic arms {imitation talks ,

The Subversive Activities Control Board Civil Rights
Congress activities proceedings

The latest casualty ligurcs list

The T. U. C. General Council meeting

The Molniya-1 Soviet space satellife communications
system

Transport and General Workers’ Union executive council




HANDLING PHRASEOLOGICAL
UNITS

» Phraseological units are figurative set
expressions often described as "idioms".
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= Five aspects of 1dioms’ meaning that will
influence the translator's choice of an
equivalent 1n the target language

. the 1diom's figurative meaning,
. 1ts literal sense,

. 1ts emotive character,

. stylistic register,
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. national colouring.



The figurative meaning 1s the basic element
of the 1diom's semantics:

"red tape" means bureaucracy,

"to kick the bucket" - to die,

"to wash dirty linen 1n public" - to disclose
one's family troubles to outsiders.



» The figurative meaning 1s inferred from the
literal sense.

« "Red tape", "to kick the bucket", and "to
wash dirty linen 1n public" also refer,
respectively, to a coloured tape, an upset
pail and a kind of
laundering, though in most cases this aspect
1s subordinate and serves as a basis for the
metaphorical use.
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» Besides, an idiom can be nationally
coloured, that 1s include some words which
mark 1t as the product of a certain nation.

» For instance, "fo set the Thames on fire"
and

» "to carry coals to Newcastle"
are unmistakably British.






Factors which complicate the task of

adequate 1dentification, understanding and
translation of 1dioms:

- First, an 1diom can be mistaken for a free
word combination, especially if its literal
sense 1s not "exotic" (to have butterflies in
one's stomach) but rather trivial (to measure
one's length, to let one's hair down)



= Second, a SL 1diom may be 1dentical in
form to a TL 1diom but have a different
figurative meaning. Thus, the English "to
lead smb. by the nose" implies a total
domination of one person by the other (cf.
the Russian «BOaMTH 32 HOCY)
and "fo stretch one's legs" means to take a
stroll (cf. the Russian «mpoTssHYyTh HOTH» )



=« Third, a SL 1dio

m can be wrongly

interpreted due to 1ts association with a
similar, 1f not identical TL unit. For
instance, "fo pull the devil by the tail", that

1s to be 1n trouble, may be misunderstood
by the translator under the influence of the

Russian idioms
Or «IIOMMAaTh 34

«aepxarb 0ora 3a 00poay»
XBOCT Kap-IITUIIY»



» Fourth, a wrong interpretation of a SL
1diom may be caused by another SL 1diom
similar in form and different in meaning.
Cf. "to make good time" and "to have a
good time"



» Fifth, a SL 1diom may have a broader range
of application than its TL counterpart
apparently 1dentical in form and meaning.

» For instance, the English "to get out of
hand" 1s equivalent to the Russian
«OtbOuthcs ot pyk» and the latter 1s often
used to translate it:



» The children got out of hand while their parents
were away. B OTCYyTCTBUU pOAUTENIEN NETH
COBCEM OTOMJIMCH OT PYK.

» But the English idiom can be used whenever
somebody or something gets out of control while
the Russian 1diom has a more restricted usage:

= What caused the meeting to get out of hand?
[louemy coOpaHue NPOILIO TaK
HEOPraHU30BAaHHO?



= There are four typical methods to handle a
SL 1diom 1n the translating:

» First, the translator can make use of a TL
1diom which 1s 1dentical to the SL 1diom 1n
all five aspects of 1ts semantics, e.g. "to pull
chestnuts out of the fire for smb." —
TacKaTh KallITaHbl U3 OTHS IS KOro-J1o0o.




= Second, the SL 1diom can be translated by a
TL 1diom which has the same figurative
meaning, preserves the same emotive and
stylistic characteristics but 1s based on a
different 1mage, that 1s, has a different
literal meaning, e.g. "make hay while the
sun shines"



» Third, the SL 1diom can be translated by
reproducing its form word-for-word in TL,
c.g.

« "People who live 1n glass houses should not
throw stones." - JItonu, )XuByIIME B
CTEKJISHHBIX JOMAaXx, HE JOJLKHBI OpOCaTh
KaMHU.



» Fourth, instead of translating the SL 1diom,
the translator may try to explicate its
figurative meaning, so as to preserve at
least the main element of 1ts semantics



GRAMMATICAL ASPECTS OF
TRANSLATION

. HANDLING EQUIVALENT FORMS ASJf |
STRUCTURES =, &

» Grammaticality 1s an important feature of
speech units. Grammatical forms and
structures, however, do not only provide for
the correct arrangement of words 1n the text,
they also convey some information which 1s
part of 1ts total contents.



» They reveal the semantic relationships
between the words, clauses and sentences
in the text,

» they can make prominent some .part of
the contents that 1s of particular

significance for the communicants.

= |

R



» The syntactic structuring of the text is an
important characteristics identifying
either the genre of the text or its author's
style.




« In many cases, however, equivalence 1n
translation can be best achieved if the
translator does not try to mirror the
grammatical forms in the source text.

» There are no permanent grammatical
equivalents and the translator can choose
between the parallel forms and various
grammatical transformations. He may opt for
the latter for there 1s never an absolute 1dentity
between the meaning and usage of the parallel

forms in SL and TL.



« For instance, both English and Russian verbs
have their infinitive forms. The analogy,
however, does not preclude a number of formal
and functional ditferences.
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= We may recall that the English infinitive has
perfect forms, both active and passive,
indefinite and continuous, which are absent 1n
the respective grammatical category in
Russian.



= The 1dea of priority or non-performed action
expressed by the Perfect Infinitive 1s not
present in the meaning of the Russian
Infinitive and has to be rendered 1n translation
by some other means.



» Cf. 'The train seems to arrive at 5." - Iloe3n,
BUAMMO, OpuxoauT B 5. and 'The train seems to
have arrived at 5." - [loe3n, BUAUMO, IIpHUILICIT B




» A dissimilarity of the English and Russian
Infinitives can be also found in the functions
they perform 1n the sentence. Note should be
taken, for example, of the Continuative
Infinitive which in English denotes an action
following that indicated by the Predicate:




» Parliament was dissolved, not to meet again
for eleven years.







» [lapaaMeHT ObLI pacoyllieH U HE CO3bIBAJICS B
TeueHue 11 jer.

» OH BepHYJICI JOMOH U OOHAPYKUII, YTO KCHA
yIILJIA.



= A similar difference can be observed if one
compares the finite forms of the verb in
English and in Russian. The English and the
Russian verbs both have active and passive
forms, but in English the passive forms are
more numerous and are more often used. As a
result, the meaning of the passive verb 1n the
source text 1s often rendered by an active verb
in the translation:



» This port can be entered by big ships only

during the tide.
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= A most common example of dissimilarity

between the parallel syntactic devices 1n the
two languages 1s the role of the word order in
English and in Russian. Both languages use a
"direct" and an "inverted" word order. But the
English word order obeys, in most cases, the
established rule of sequence: the predicate 1s
preceded by the subject and followed by the
object.



= This order of words 1s often changed 1n
the Russian translation since in Russian
the word order 1s used to show the
communicative load of different parts of
the sentence, the elements conveying new
information (the rheme) leaning towards
the end of non-emphatic sentences.



» Thus if the English sentence "My son entered
the room" 1s intended to inform us who entered
the room, 1ts Russian equivalent will be «B
KOMHATY BOIIIEJI MO ChIH» but 1n case its
purpose 1s to tell us what my son did, the word
order will be preserved: «Mo# CbIH Bo1eln B
KOMHATY».



= The predominantly fixed word order 1n the English
sentence means that each case of 1ts inversion
(placing the object before the subject-predicate
sequence) makes the object carry a great
communicative load. This emphasis cannot be
reproduced 1n translation by such a common device
as the inverted word order 1n the Russian sentence
and the translator has to use some additional words to
express the same 1dea:

= Money he had none.

» JleHer y Hero He ObLIO HM T'polIA.



» 1. Translate the following sentences with the special
attention to the choice of Russian equivalents to
render the meaning of the English infinitives.

= 1. The people of Roumania lived 1n a poverty difficult
to imagine. 2. The Security Council i1s given the
power to decide when a threat to peace exists without
waiting for the war to break out. 3. The general was a
good man to keep away from. 4. This is a nice place
to live in. 5. He stopped the car for me to buy some
cigarettes. 6. Jack London was the best short-story
writer 1n his country to arise after Edgar Poe.



= II. Note the way the meaning of the English passive
forms 1s rendered in your translation of the following
sentences.

» 1. The Prime-Minister was forced to admit in the
House of Commons that Britain had rejected the
Argentine offer to negotiate the Folklands' crisis. 2.
The amendment was rejected by the majority of the
Security Council. 3. He rose to speak and was warmly
greeted by the audience. 4. The treaty 1s reported to
have been ratified by all participants.



HANDLING
EQUIVALENT-LACKING FORMS
AND STRUCTURES

= A lack of equivalence in the English and
Russian systems of parts of speech can be
exemplified by the article which 1s part of the

English grammar and 1s absent in
Russian||Kazakh.




= As arule, English articles are not translated
into Russian for their meaning 1s expressed by
various contextual elements and needn't be
reproduced separately.

= But in some cases there 1s a need to translate
the meaning of the English article.




» Consider the following linguistic statement:
"To put 1t 1n terms of linguistics: a sentence 1s a
concrete fact, the result of an actual act of
speech. The sentence 1s an abstraction. So a
sentence 1s always a unit of speech; the
sentence of a definite language 1s an element
of that language."



» It 1s obvious that an entity cannot be both a
concrete fact and an abstraction. The
difference between "a sentence" (Jir000e€
oTAeIbHOE npeanoxkenne) and 'the sentence"
(OpeanoKEeHUE KaK MOHSATHE, TUII
npeanoxenns) should be definitely revealed 1n
the Russian translation as well.



» Even if some grammatical category 1s present
both in SL and in TL, 1ts subcategories may
not be the same and, hence, equivalent-lacking.

» Both the English and the Russian verb have
their aspect forms but there are no equivalent
relationships between them. Generally
speaking, the Continuous forms correspond to
the Russian imperfective aspect, while the
Perfect forms are often equivalent to the
perfective aspect.



« However, there are many dissimilarities. Much
depends on the verb semantics. The Present
Perfect forms of non-terminative verbs, for
instance, usually correspond to the Russian
imperfeclive verbs in the present tense:



= | have lived in Moscow since 1940. 102

= A xuBy B Mockse ¢ 1940 .




» The Past Indefinite forms may correspond
either to the perfective or to the imperfective
Russian forms and the choice 1s largely
prompted by the context. Cf.:




» After supper he usually smoked in the garden.
[Iocie y>xuHa OH OOBIYHO KYPHJI B Cafy.




» After supper he smoked a cigarette in the
garden and went to bed.
[Iocie y:KrHa OH BBIKYPHJI B CaJy CUTApETy U
MOLIEI CHaTh.

TaN-Smokicg Fict



» The Past Pefect forms may also be indifferent
to these aspective nuances, referring to an
action prior to some other action or a past
moment. Cf.:



» [ hoped he had read that book.
(a) S Hagescs, 4TO OH YUTAJI 3Ty KHUTY,

» (0) A Hapescs, 4To OH (yK€) MPOYUTaI ITY
KHUTY.




= A special study should be made of the
translation problems involved in handling the
Absolute Participle constructions. To begin
with, an Absolute construction must be
correctly 1dentified by the translator.

« The 1dentification problem 1s particularly
complicated 1n the case of the "with"-structures
which may coincide in form with the simple
prepositional groups.



» The phrase "How can you play with your
brother lying sick 1n bed" can be understood 1n
two different ways: as an Absolute
construction and then its Russian equivalent
will be «Kak Te0¢ HE CTBIIHO UIpaTh, KOrga
TBOM OpaT JICKUT OOJIBHOM (B MOCTEIN )» Or as
a prepositional group which should be
translated as «Kak Te0€ HE CTBIZHO UrpaTh C
TBOUM OOJILHBIM OpaToM».



= Specific translation problems emerge when the
translator has to handle a syntactical complex
with a causative meaning introduced by the
verb 'to have" or "to get", such as: "I shall have
him do 1t" or "I shall have him punished".
First, the translator has to decide what Russian
causative verb should be used as a substitute
for the English "have" or "get".




= Depending on the respective status of the
persons involved, the phrase "I shall have him
do 1t" may be rendered into Russian as «41
3aCTaBIIO €r0 (IPHUKAXKY €MY, BEIII0 EMY,
IIONPOIITY €r0 1 T.I.) CACJIaTh 3TO» Or even «J1
H00BIOCH (110320049yCh O TOM, YCTPOIO TaK U T.
11.), YTOOBI OH ATO CACIIAID.



= Second, the translator must be aware that such
complexes are polysemantic and may be either
causative or non-causative. The phrase 'The
general had his horse killed" may refer to two
different situations.



» Either the horse was killed by the general's
order (I'enepan npukasai yOUTh CBOIO
nomank) or he was killed in combat and the
general was not the 1nitiator of the act but the
sufferer (Ilog HuM yOounm jgomans). An error in
the translator's judgement will result in a
distorted translation variant.



Many equivalent-lacking structures result from a
non-causative verb used in the typical causative
complex. Preserving its basic meaning the verb
acquires an additional causative sense. Cf.:

They laughed merrily.
OHH BECEIIO CMESIIUCH.
They laughed him out of the room.

OHH Tak CMESIJINCh HaJ HUM, YTO OH yOeKaj U3
KOMHATHI.



= In such cases the translator has to choose
among different ways of expressing causative
relationships in TL. Cf.:

» The US Administration wanted to frighten the
people into accepting the militarization of the
country.



» Anvuauctpanus CIIIA ctpemunace 3amyrarb
HapoJI, YTOOBI 3aCTABUTH €r0 COINIACUThLCS Ha
MuniTapusanuio crpanbl. He talked me 1nto
joining him. OH yroBopui1 MeHs
IIPUCOCAUHUTLCS K HEMY.

» [t should be noted that such English structures
are usually formed with the prepositions "into"
and "out of as 1n the above examples



HANDLING MODAL FORMS



